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Al

137,636

14,200

22,980

A8,780

14,200

22,980

A8,780

3,000,000

7,000 +8, 000 *20%

14,200

3,000

11,200

22,980

N8,780

37,000

29,000

8,000

37,000

29,000

8,000

HEZZ TR Z) AL X2
500& %100, 0000H *10%

40,000,000 *80%

37,000

5,000
32,000

29,000

8,000

51,720

10,000

41,720

51,720

10,000

41,720

S CIRSUNRSE s~ Pajlu]

5,000, 000& »22

A& AIE (200 4)

20,000,000& *70%

X sI1H 2 (3He)

39,600, 000& *70%

51,720

10,000

14,000

27,720

10,000

41,720

H
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2,400
1,200
1,200

4,200

A 1,800

H
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2,400
1,200
1,200
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1,200

4,200

A 1,800
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sA4 & 14,000, 000&
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S HE - CRI(EH) - HRAY - B sl e HlRE2
sl ¥ =0 B X2 6,000 5,000 1,000
& 1,740
Al 4,260
402 QIEGE01M 6,000 5,000 1,000
= 1,740
Al 4,260
01 Y2tR=Ex 6,000 5,000 1,000
o=sdaeldl 22 6,000, 000& 6,000
= 1,740
Al 4,260
HASSEXZTZ X =K 159,000 159,378 A378
= 159,000
402 2IbE01M 159,000 159,378 N378
= 159,000
01 QX=X 159,000 189,378 A378
ONALASSEEAIX=H 159,000,000 159,000
= 159,000
ELMEH B= 5,344 23,819 A 18,475
= 4,276
& 534
Al 534
402 QIEXE0lM 5,344 23,819 N 18,475
= 4,276
& 534
Al 534
01 QtR=8=x 5,344 23,819 N 18,475
OELHEME= 5,344,000& 5,344
= 4,276
= 534
Al 534
HEUSTHHL XAl XA 1,200 0 1,200
L= 600
Al 600
402 QIEXE01M 1,200 0 1,200
& 600




AN sE=X
B soiAme Usl
el solol ASED (et9l: &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
402 SIZ2HX =0l Al 600
01 QtR=8=x 1,200 0 1,200
Os&& HgXl AEX& 1,200,000& 1,200
< 600
Al 600
Ststdl & JtA el XX 15,888 0 15,888
= 4,766
Al 11,122
402 QIEXE01H 15,888 0 15,888
L= 4,766
Al 11,122
01 QR=Ex 15,888 0 15,888
O3tstHIZ Jh2 01 KUK 15,888,000 15,888
= 4,766
Al 11,122
AMER0 HEXoE &3¢t 12,000 0 12,000
= 6,000
& 3,000
Al 3,000
402 QIEE01M 12,000 0 12,000
= 6,000
L= 3,000
Al 3,000
01 QtR=Ex 12,000 0 12,000
OAE2dHXIolIZ2 &3t 12,000,000 12,000
= 6,000
< 3,000
Al 3,000
SYel Hod srat 86,137 94,757 A8,620
= 5,000
| 200
L= 17,373
Al 63,564
sgel ADINA 2 MEsEHeA 23,500 26,200 22,700
201 BH2IH] 2,500 9,500 27,000
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AN sg=sX1
HH: soHM Us
¢ =gl 4olE ShA (&2 &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
OsHOXHEHSH A2 (0 ZAFR) 47,000,000 47,000
o= 14,100
Al 32,900
SOHAKFLOILFHI XA 10,000 17,000 AT,000
= 5,000
& 2,500
Al 2,500
307 QIZt0IA 10,000 17,000 AT,000
= 5,000
= 2,500
Al 2,500
02 QI2HAAMNEX 10,000 17,000 AT7,000
OgKOIAEHL=H XS 10,000,000& 10,000
= 5,000
< 2,500
Al 2,500
SsA2A2AAS 29X A 500 750 A 250
Dl 200
Al 300
201 LB IH| 500 750 A 250
J| 200
Al 300
01 ArR2t2|bl 500 750 A 250
Oskzefds2d 500,000& 500
J| 200
Al 300
SHOIXE tHetst k2 s AHAA 1,260 3,640 N2,380
7 QIZ2t0I A 1,260 3,640 N2,380
QI AER 1,260 3,640 N2,380
OsARE HatsXE S
1,260,000& 1,260
= Jlgtxd 211,201 146,050 65, 151
= 38,325
= 29,250
Al 143,626




==Xt
sAAYA A3t
Sol=E JBEY k)
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 0l ot o HnE2
BASE HIDAZ WAL 4,920 4,500 420
206 T2l 3,000 4,500 A1,500
T 3,000 4,500 A1,500
Ol MEhsi2 7120 Ha7
6, 00024 *5004 3,000
402 QIR+ OIF 1,920 0 1,920
01 DIAN=ELE 1,920 0 1,920
Of Il LS st 2ol 23
1,200, 0002 %2CH <80% 1,920
& MYs 29 40,556 21,800 18,756
201 L2yl 16,400 12,250 4,150
01 AFRZelt] 7,400 6,600 800
OYsDE, MSSAUSI| S SA2+Y
3,000,000% 3,000
Ospo S&ns S HeUxe
2,400,0002 2,400
ORSEH +51Y YX2 2,000,0002! 2,000
0 I 6,000 5,650 350
OSENTARA Lyl 1,000,002 1,000
OSENTARA B2R3 2,000,00024 2,000
Os&E#s NEXHY 282 2 24|
3,000,0002! 3,000
03 A2 Y] 3,000 0 3,000
O=EEH A 3,000,000%! 3,000
206 &I 1,556 5,150 6,406
EET 11,556 5,150 6,406
ORESA L MEDBSASTHE
6,556,000% 6,556
O2&TAIE W27 5,000,000 5,000
01 YN 6,600 4,400 2,200
10 SAAHIZAS 6,600 4,400 2,200
OMHYsLANDS 7,000 %500% 3,500
O2SDE L MSSAUS)| DS S
1,000,0002 1,000
O4-HOIY DS, BAHE HAS
1,200,002 1,200




Sol=X
Sl At
Q=& JIHEN CRR-L!
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
SENCA slo, RSN B4
900,0002 900
401 AZHI L2 4,000 0 4,000
01 AlZH] 4,000 0 4,000
OSEXNTA ANPATAH U SEARY|
4,000,000 4,000
405 R&HF S 2,000 0 2,000
01 RAUSZF S| 2,000 0 2,000
OSEXNEA ARA HIIE 7
2,000,0008 2,000
HBA=Y |4 26,250 42,250 A 16,000
201 Ysr2gy| 1,000 0 1,000
01 ARl 1,000 0 1,000
ONBESE U 40 HE S 1,000,000 1,000
202 o1l 1,250 1,250 0
01 =LHoTb] 1,250 1,250 0
OXBASHILASANLHNSE
1,250,000 1,250
206 T2l 10,000 30,000 A20,000
01 M=ol 10,000 30,000 20,000
OHSBH=UANHSXWRPY 10,000,0002 10,000
301 YA 2,000 1,000 1,000
10 S#AAH2AZ 2,000 1,000 1,000
OXBASHNTS 1,000,000 1,000
OHHIZ4HE ==L S
1,000,000 1,000
402 QIXHZOIH 12,000 10,000 2,000
01 PIATERE 12,000 10,000 2,000
OX&H RIS HIDAE 2,000,00084 2,000
OHRTEIE HEXE 10,000, 0002 10,000
SENCX 3 SA 7,500 6,700 800
= 2,250
Al 5,250
201 sl 2,500 2,700 A200
& 750
Al 1,750
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oz =
L e
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5 ton

SN S(B) - NRAY - B2 Aro e =2
01 Atf2teld 2,500 2,700 A 200
OsZXNCX s8HY(sHEEXN HB)
2,500,000& 2,500
& 750
Al 1,750
301 LptsBazg 5,000 4,000 1,000
= 1,500
Al 3,500
10 FAIAHIEASZ 5,000 4,000 1,000
SEXNCX sSHL(HXNATDNS)
5,000,000& 5,000
= 1,500
Al 3,500
BRI L2 X 114,975 42,000 72,975
= 38,325
L= 21,900
Al 54,750
402 SIZ2HX =0l 114,975 42,000 72,975
= 38,325
& 21,900
Al 54,750
01 QUAR=2EX 114,975 42,000 72,975
OX#AF RIIE U2 XN 114,975,000% 114,975
= 38,325
= 21,900
Al 54,750
4-HEL X 6,000 5,000 1,000
= 1,800
Al 4,200
301 ptsazg 3,000 3,000 0
= 900
Al 2,100
10 SAIAHIEAS 3,000 3,000 0
O4-H SEXJ (U =sZL2SEHSES)
3,000,000 3,000
= 900
Al 2,100




FAMN: sE=XL
B soime Us
el SolsE DRy CECR-E!
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
402 SIZ2HX =0l 3,000 2,000 1,000
& 900
Al 2,100
01 QtR=8=x 3,000 2,000 1,000
O4-H SHXNA(UMESKH) 3,000,000 3,000
= 900
Al 2,100
SsHEZUSH 10,000 10,000 0
= 3,000
Al 7,000
201 Lt 1,000 4,000 23,000
& 300
Al 700
01 At=2teldl 1,000 1,000 0
OSQUH2WE ZAZ(MHSSEHTR)
1,000, 000& 1,000
& 300
Al 700
202 O4Hl 1,000 1,000 0
L= 300
Al 700
01 =3LUAbI 1,000 1,000 0
OSAHSDI(MHSSLHDR) 220l
1,000,000 1,000
= 300
Al 700
206 M=l 6,000 4,000 2,000
& 1,800
Al 4,200
01 MZ 8l 6,000 4,000 2,000
OsgddzlS(MiEsdHNK )=t
6,000, 000& 6,000
= 1,800
Al 4,200
301 Lptsazg 2,000 1,000 1,000
& 600
Al 1,400
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AN sE=X
B soime Usl
el SMSMA Y S LR
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
ORAZHA AstAtY 11,240,000& 11,240
< 5,620
Al 5,620
208 F=HAILAY 25 2,585 4,460 AN 1,875
= 1,034
Al 1,551
301 YBtEa = 2,585 4,460 A 1,875
& 1,034
Al 1,551
12 JIEt2 43 2,585 4,460 A~ 1,875
OX0lEFHAAE RS 2,585,000& 2,585
= 1,034
Al 1,551
SOXI A HE T 500 8,100 A7,600
= 250
Al 250
306 %= 500 8,100 AT7,600
L= 250
Al 250
01 &=¢3 500 8,100 A7,600
OBHR 25 0L KI A AFOHE HI ALY 500,000 500
< 250
Al 250
RIIsS= HMlAL 54,000 60,000 26,000
= 10,800
Al 43,200
301 LptEasg 54,000 60,000 26,000
L= 10,800
Al 43,200
12 JIEt2 &3 54,000 60,000 26,000
Oss:Eszel 54,000,000& 54,000
= 10,800
Al 43,200
NEAE D|BHEE 248,350 212,287 36,063
= 3,000




SN sY=X
MIH: =AH A=A
(=R I

Tiol: JIEALS J|BHaE (el @)
SA-E . S(E) - MEAY - BES 0 & 24 e SImE=ET
IISALE J|gtet = s 42,750
Al 202,600
DEHLAE 30,000 25,000 5,000
402 QIEXE01M 30,000 25,000 5,000
01 BIZtA=2E=x 30,000 25,000 5,000
OB=AdAAS 100,000& *3005 30,000
SsdHAY 26,000 26,100 A 100
26,000 26,100 A 100
26,000 26,100 A 100
26,000,000 26,000
M2 BHE Q & 20,000 20,000 0
20,000 20,000 0
20,000 20,000 0
AT
200,000, 000& *10% 20,000
50,000 50,000 0
< 25,000
Al 25,000
50,000 50,000 0
= 25,000
Al 25,000
50,000 50,000 0
50,000,000 50,000
S 25,000
Al 25,000
2E 42,550 45,187 N2,637
= 14,750
Al 27,800
42,550 45,187 N2,637
= 14,750
Al 27,800
I2tXt= 8 & 42,550 45,187 N2,637
TALS AT BHEt S ALY 42,550,000 42,550
= 14,750
Al 27,800




AN sE=X
B soimMe Usl
Sl JIEAIS DJ|uhetE CEE-E)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
NEER MHelArg 5,000 0 5,000
= 3,000
= 1,000
Al 1,000
402 QIEXE01M 5,000 0 5,000
= 3,000
= 1,000
Al 1,000
01 2UAR=2EX 5,000 0 5,000
ON=ss=MelMmd 5,000, 000& 5,000
2 3,000
= 1,000
Al 1,000
OIStz s&¥x4 5,000 6,000 A 1,000
= 2,000
Al 3,000
402 QIZHXE01H 5,000 6,000 A 1,000
= 2,000
Al 3,000
01 QUAXR=2EX 5,000 6,000 21,000
OS2 s&xd 5,000,000& 5,000
= 2,000
Al 3,000
Sihs0 SYHXF ALY 46,800 20,000 26,800
402 QIZEXE0|H 46,800 20,000 26,800
01 QX=X 46,800 20,000 26,800
OS4HsIt SYT A
130, 000& *900 & *40% 46,800
TAE MAX & 23,000 20,000 3,000
402 QIZEXE01H 23,000 20,000 3,000
01 2UAR=2EX 23,000 20,000 3,000
OZAZ MM2 H2X
10,000& 5,000 *40% 20,000
OFEC MUiXA 3,000, 000& 3,000
=S & FHE AHIED 328,307 241,015 87,292
= 28,554
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SN S=R D
B soiAmMe Usl
o9 JlEYH U BMB AYST (el @)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
sYd A =AMZ AHIFA J| 47,268
= 71,933
Al 180,552
IIEZY Ao 2 76,549 44,495 32,054
101 Q14| 29,699 395 29,304
10 JIZHZ22XNEES 29,699 395 29,304
O&XE & o2 65,730 x2H x3! 395
OJEge A=01RY 29,304
-JIE23 66,000 *2H x180 23,760
- FEY 66,000 x2H 36 4,752
- X" 3sIIY 66,000 x2H x5! 792
206 M=H| 34,100 34,100 0
01 MH=Hl 34,100 34,100 0
O3tz 15,000, 000& 15,000
OaXE M| 20,000 305 600
OlgEsE ARE R H| 500, 000& 500
OFNMEL JIZ20EFAI LS|
150,000& x120& 18,000
301 et A3 9,000 9,000 0
12 JIEIEAZ= 9,000 9,000 0
O3 ¢ 750,000& x12& 9,000
402 QIZHXE0| A 3,750 1,000 2,750
01 QI2X=2EX 3,750 1,000 2,750
OotisAEg A 1,500, 000& *5CH *50% 3,750
IIEdEgY dedES A= 51,540 1,520 50,020
= 26,454
== 12,493
Al 12,593
301 e A2 51,540 1,520 50,020
= 26,454
= 12,493
Al 12,593
12 JIEIE A2 51,540 1,520 50,020
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= 104,973
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202,000,002 202,000
OBISLI® AT} & EEZ ZHTA
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Bo| TAl XA 666,738 472,928 193,810
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At 13,000, 000& 13,000
= 3,900
Al 9,100
206 MaEH| 2,000 1,500 500
= 600
Al 1,400
01 M=z 4l 2,000 1,500 500
OBl H W ek HXES)E X
AN THE R 2,000,000& 2,000
= 600
Al 1,400
HY2AHH (s =X 69,460 31,300 38, 160
ol (g =Xl 4,200 3,000 1,200
PAMOIHE (== 4,200 3,000 1,200
203 YRFLAH| 4,200 3,000 1,200
04 REN2IHR 4,200 3,000 1,200
L VLT
350,000& 123 4,200
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2N =Y
SH X
(=)

‘_-_x\:
M HHSAAY (S =KD)
ool =AY (SY=X ) (ctol: @)
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES O AF K 'oﬂ/'\_WH Hlws2
I 2 (5 =X) 65,260 28,300 36,960
I 2 (5 =XD) 65,260 28,300 36,960
201 gty 19,800 12,700 7,100
01 At=atelt| 19,800 12,700 7,100
ORNSY ARl 19,800,000 19,800
202 oiHl 36,960 15,600 21,360
01 =00l 36,960 15,600 21,360
OJ1 22 480{Hl (22%) 36,960,000 36,960
405 Xarz S| 8,500 0 8,500
01 RALSE3 =4l 8,500 0 8,500
OCUIXE3tnat 2 500,0002! *2CH 1,000
OJF=0iler WxD ¢ 3,000,000 *1CH 3,000
OAREIt7 R (24, OIR) 4,500,000 4,500
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